REHE

5A1TEE

SM7E4R14BHE

BRATE

Tﬁﬁ%

1F | 2% [ 3% 45

5% | 6%

HEHERQ

12:45

e
1£0BRRY EREHE

12:45

FELSH

HEY DA

ZEHDA

RERE

A FAMRE BRAHMEL4:40~
HiEE) Y PERERS - 9

13:30 14:25

13:30 14:45

15:40

HHE BN ARD
LWLCHODE

13:30 14:45

15:40

m B H S| o olX «| X o|@ a|@m |H w|H o ~

—
N

an

FRIEEIRE ¥ 6 5 HBEFHKB~6/5

MSHX TEREZSPRTMN 6 ERIBRRIERER

14:45

15:40

—
w

x>

REEEURE B GhE - 2R - A

5 FHERRPD13:30~

14:45 15:40

N
R

3ERRRZ ZERTFHO

W RE

14:25

15:20

—
o

>+

1FEZBR DR

14:45

15:40

—
[=2)

S

HiE - 65 1 - 2 fHERHIRS

14:45

15:40

H S

O &

o5

14:45

15:40

N
o

=

BB AR

14:45 15:40

NN
A

J RC&ER 25ARKRD

MR ->FRe/ba—L

14:25

N
N

%_

6EBEFIRIT(RBAE)

14:45 15:40

B2

IR1T

=5
=

N
w

S

6EBEFIRIT(RBAE)
EE (1~4%)

EREERTR

B

15:40 e
IR1T

H R

15 gt NE

m 3

3F  MREER

[ S e e e

oS

14:45

15:40

N
Ry

3EHIREHE14:00~15:30
4 FlRBHRE

14:45 15:40

BRERE

14:25

LFEARRZ

14:45

15:40

6F3 - 41HEMRZ
ERFIHRE

14:45

15:40

e B, = E R IR

| 15:40

8l s 8% Bx

PON-=
M mmmm

o

[6 ADEHTE]

(B) PTAT—ILER

(R) BEERERZY

(K) BESEERZ

OK) ¥3581T8 SFERERD
HBAHE

(&) 93581k

(R) 93584 FHA

(k) WEHOMBE RIZREEIRE

K) 935 TE8

(R) %8

(&) 1FEEHRD

(R) 1FHEHEE

k) ZEREH

(K) 935 TiEH

(KR) 5 EFERARRZ

(A) £ 5 KfREIRE

KEELYOTEE. BZR.EEFRADFENEESNTUVET,

¥ FPETTDOTEEIIEENHYET . ZT RS,




